Chapter 8.1 & 8.2 Name

Quiz Review Date Hour

1. A consumer watchdog organization estimates the mean weight of 1-ounce “Fun-Size” candy bars to see if
customers are getting full value for their money. A random sample of 25 bars is selected and Wfflghed~ and the
organization reports that a 9()"0 confidence interval for the true mean weight of the candy bars is 0.992 0 0.998

ounces.

(a) What is the point estimate from this sample?
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(¢) Interpret the 90% confidence interval 0.992 to 0.998 in the context of the problem.
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(d) Interpret the confidence level of 90% in the context of the problem.
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2. A manufacturer of flashlights wants 1o know how well one of their newer styles is selling in a chain of large

home-improvement stores. They select a simple random sample of 20 stores, flashlights

were sold in a 30-day period, and construct a 95% confidence inlterval fo ean number of flashlights sold:
1nd Loy

(a) Discuss whether this study meets the QEWMI a confidence interval. If you

think one of the conditions has not been met, what additional information would be wTuired or what change in
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(b) If, instead of constructing a 95% confidence interval, the flashlight manufacturer constructed a 98%
confidence interval, would the 98% interval be wider, narrower, or the same width as the 95% interval?
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(c) How would the width of confidence interval change if the flashlight manufacturer took a larger sample?
Explain.

‘wa u« som,]c Site )aocr, j{L«: IS Ls.&
VW““”‘{). ul\«ol” Means ‘l‘[w. s)wu)wj o’ww[m Non
6‘ "”‘""’" CMJ H»“s wodll) ML ‘Mc cméo’am;. },yi,./

Nt rower”,



You will need to study the 4 step process for the quiz. This is one example. You will get the tem;})‘latc o:o?l]cclo
quiz (but not the chapter test, so start to leam it) You can practice the 4-step problems from your home

help you study.

3. A simple random sample of 1100 males aged 12 10 17 in the United States were asked whether they played

. . 1 . L . . 3 / use this
massive multiplayer online rol-playing games (MMORPGs): 775 said that they did. '“f Ry ed 12 10 17
information to construct a 95% confidence interval to estimate the proportion of all U.S. males ag

who play MMORPGs. ’9‘ 2208
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a) Use the 4 step process to construct the 95% confidence interval.

STATE: State the parameter you want to estimate and the confidence level.
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PLAN: Identify the appropriate inference method and check conditions.
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DO: If the conditions are met, perform te calculations.
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CONCLUDE: Interpret your interval in the context of the problem.
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b) Suppose you wanted to estimate the proportion of 12-10-17 year-old males who play MMORPG's with 95%
confidence to within + 2%. Calculate how large a sample you would need.
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¢) If you wanted to have a margin of error of tw confidence. would your sample have to be larger.

—smaller, or the same size as the sample in part (f{? Explain. I —
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d) This poll was conducted through email. Explain how undercoverage could lead to a biased estimate in this
case, and speculate about the dirIt' n of the bias.
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Use the 4 Step Process

4. Mrs. Cowells was an all-star basketball player in high school. To prove that she still has skills, she took 50
free throws and made 31 of them. Think of these 50 shots as bei ¢ of all the free throws she
has ever taken. Find a 99% confidence interval for Theé true proportion of free throws Mrs. Cowells would
make.

STATE: State the tarametemu want to estimate and the confidence level.
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